ZARZADZANIE.PRZEKAZANIA

T

ID NUMBER (*,0)

ID_ZAMOWIENIA
STATUS_PRZEK_KOD

NUMBER (*,0)
VARCHAR2 (10 BYTE)

TERMIN_PRZEKAZANIA DATE
DATA_PRZEKAZANIA DATE

NR_ITERACJI NUMBER (*,0)
TERMIN_ODBIORU DATE

KONTROLER VARCHARZ2 (20 BYTE)
TERMIN_ROZP_KONTROLI DATE
TERMIN_ZAK_KONTROLI DATE
WYNIK_KONTROLI_KOD VARCHAR?2 (3 BYTE)
DATA_PROTOKOLU DATE

UWAGI VARCHAR?2 (200 BYTE)
DATA_UTW_REK TIMESTAMP
DATA_MOD_REK TIMESTAMP

UZYTK_MOD

VARCHAR?2 (20 BYTE)

= PRZEKAZANIA_PK (ID)

Eﬁ PRZEKAZANIA_FK_STATUS (STATUS_PRZEK_KOD)

Eﬁ PRZEKAZANIA_FK_WYNIK_KONTR (WYNIK_KONTROLI_KOD)

Eﬁ PRZEKAZANIA_FK_ZAMOWIENIA (ID_ZAMOWIENIA)

4 PRZEKAZANIA_PK (ID)

ZARZADZANIE.ZAMOWIENIA

ZARZADZANIE.WYNIK_KONTROLI_SLO

P * KOD VARCHAR2 (3 BYTE)

>|_ — — P * WYNIK_KONTROLI VARCHAR?2 (20 BYTE)

E= WYNIK_KONTROLI_SLO_PK (KOD)

% WYNIK_KONTROLI_SLO_PK (KOD)

ZARZADZANIE.STATUS_PRZEK_SLO

P * KOD VARCHAR2 (10 BYTE)
* STATUS_KONTROLI  VARCHAR2 (20 BYTE)
KOLEJNOSC NUMBER (*,0)

= STATUS_KONTROLI_SLO_PK (KOD)

4 STATUS_KONTROLI_SLO_PK (KOD)

M M M M T T T T

ID

TERYT
ZAMAWIAJACY_KOD
OBSZAR_KOD
ZAKRES_AKT_KOD
TYP_ZAMOWIENIA_KOD
GODLO

TERYT_GM
POWIERZCHNIA_KM2
ROK_PLANOWANIA
AKTUALNOSC_ROK
ROK_FINANSOWANIA
STATUS_ZAM_KOD
NR_REF_ZAM
NR_CZESCI_ZAM
DATA_OGL_POSTEPOWANIA
TERMIN_OFERT
DATA_WYBORU
DATA_UMOWY
NR_UMOWY
NR_CZESCI_UMOWY
WYKONAWCA_KOD
KWOTA_BRUTTO
TERMIN_WYKONANIA
DATA_WYDANIA_MATERIALOW
DATA_ODBIORU
DATA_DODANIA_DO_BAZY
DATA_ZGL_SD
NR_ZGL_SD
DATA_PUBL_G2
NEWS_DATA_PRZYG
DODATKOWE_INFO
DATA_UTW_REK
DATA_MOD_REK
GEOMETRIA
UZYTK_MOD

NUMBER (*,0)
VARCHAR? (4 BYTE)
VARCHAR? (5 BYTE)
VARCHAR? (6 BYTE)
VARCHAR? (5 BYTE)
VARCHAR? (15 BYTE)
VARCHAR? (15 BYTE)
VARCHAR2 (7 BYTE)
NUMBER (8,2)
NUMBER (*,0)
NUMBER (*,0)
NUMBER (*,0)
VARCHAR? (20 BYTE)
VARCHAR? (25 BYTE)
VARCHAR? (5 BYTE)
DATE

DATE

DATE

DATE
VARCHAR? (20 BYTE)
VARCHAR? (5 BYTE)
VARCHAR? (15 BYTE)
NUMBER (8,2)

DATE

DATE

DATE

DATE

DATE
VARCHAR2 (10 BYTE)
DATE

DATE
VARCHAR2 (200 BYTE)
TIMESTAMP
TIMESTAMP
SDO_GEOMETRY
VARCHAR? (20 BYTE)

ZARZADZANIE.OBSZAR_SLO

P * KOD VARCHAR?2 (6 BYTE)
* OBSZAR VARCHAR?2 (20 BYTE)

& OBSZAR_SLO_PK (KOD)

4 OBSZAR_SLO_PK (KOD)

ZARZADZANIE.TYP_ZAMOWIENIA_SLO

P * KOD VARCHAR?2 (15 BYTE)
* TYP_ZAMOWIENIA VARCHAR?2 (30 BYTE)

= TYP_ZAMOWIENIA_SLO_PK (KOD)

% TYP_PRZEKAZANIA_SLO_PK (KOD)

ZARZADZANIE.WYKONAWCA_SLO

P * KOD VARCHARZ2 (15 BYTE)
* WYKONAWCA VARCHAR?2 (50 BYTE)

= WYKONAWCA_SLO_PK (KOD)

% WYKONAWCA_SLO_PK (KOD)

ZARZADZANIE.ZAKRES_SLO

P * KOD VARCHAR2 (5 BYTE)
* ZAKRES VARCHAR?2 (20 BYTE)

& ZAKRES_SLO_PK (KOD)

4 ZAKRES_SLO_PK (KOD)

ZARZADZANIE.STATUS_ZAM_SLO

P * KOD VARCHARZ2 (20 BYTE)
* STATUS_ZAMOWIENIA VARCHAR?2 (30 BYTE)

KOLEJNOSC NUMBER (*,0)

= ZAMOWIENIA_PK (ID)

= STATUS_ZAM_SLO_PK (KOD)

4 STATUS_ZAM_SLO_PK (KOD)

=3 ZAMOWIENIA_FK_GMINY (TERYT_GM)

=3 ZAMOWIENIA_FK_GODLO (GODLO)

=3 ZAMOWIENIA_FK_OBSZAR (OBSZAR_KOD)

=3 ZAMOWIENIA_FK_STATUS (STATUS_ZAM_KOD)

E3 ZAMOWIENIA_FK_TERYT (TERYT)

=3 ZAMOWIENIA_FK_TYP_ZAM (TYP_ZAMOWIENIA_KOD)
=3 ZAMOWIENIA_FK_WYKONAWCA (WYKONAWCA_KOD)
E3 ZAMOWIENIA_FK_ZAKRES (ZAKRES_AKT_KOD)

=3 ZAMOWIENIA_FK_ZAMAWIAJACY (ZAMAWIAJACY_KOD)

~N
~N

ZARZADZANIE.ZAMAWIAJACY_SLO

P * KOD VARCHAR? (5 BYTE)
* ZAMAWIAJACY  VARCHAR2 (60 BYTE)

& ZAMOWIENIA_PK (ID)
¥

v

ZARZADZANIE.ARKUSZE_10K

P * GODLO VARCHARZ2 (15 BYTE)
POWIERZCHNIA_KM2 NUMBER (6,2)
GEOMETRIA SDO_GEOMETRY

= ARKUSZE_10K_PK (GODLO)

4 ARKUSZE_10K_PK (GODLO)

ZARZADZANIE.ARKUSZO_POWIATY

UF* TERYT VARCHAR? (4 BYTE)

UF* GODLO VARCHAR? (15 BYTE)
ROK_AKTUALNOSCI NUMBER (*,0)
DATA_AKT_REK DATE

ZAMAWIAJACY_KOD VARCHAR?2 (5 BYTE)
GEOMETRIA SDO_GEOMETRY
POWIERZCHNIA_KM2 NUMBER (6,2)

% ARKUSZO_POWIATY_U_TERYT_GODLO (TERYT, GODLO)

E3 ARKUSZO_POWIATY_FK_GODLO (GODLO)
E3 ARKUSZO_POWIATY_FK_TERYT (TERYT)

4 ARKUSZO_POWIATY_U_TERYT_GODLO (TERYT, GODLO)

> KONTAKT VARCHAR?2 (50 BYTE)

= ZAMAWIAJACY_SLO_PK (KOD)

% ZAMAWIAJACY_SLO_PK (KOD)

ZARZADZANIE.POWIATY

P * TERYT
* WOJEWODZTWO
* POWIAT_NAZWA
POWIERZCHNIA_KM2
GEOMETRIA

VARCHAR?2 (4 BYTE)
VARCHAR? (30 BYTE)
VARCHAR?2 (30 BYTE)
NUMBER (6,2)
SDO_GEOMETRY

A

ZARZADZANIE.GMINY

= POWIATY_PK (TERYT)

P * TERYT_GM VARCHAR?2 (7 BYTE)

* WOJEWODZTWO VARCHAR?2 (30 BYTE)

* GMINA_NAZWA VARCHAR?2 (40 BYTE)
POWIERZCHNIA_KM2 NUMBER (6,2)

GEOMETRIA SDO_GEOMETRY

i POWIATY_PK (TERYT)

= GMINY_PK (TERYT_GM)

% GMINY_PK (TERYT_GM)




